7" (MIN)
TREAD PROJECTION

CONCRETE SLAB

TN %< _GROUT UNDER , »
- BASE PLATE p—1=8"
DETAIL "A” - J . |E\
I : ' ' (@]
@ DECKING 3"x16” @ 20GA L e _I @ 1” BASE PLATE I N
@ PERMETER GUTTER 7.250" x 7" x 4.250" with 1° lips @20GA A' : 0 TN | I
@ FASCIA TRM 1.5° x 8" L Shape .040 Alum 1 o » o]
@ ® 3mm ACM PANEL 36" to 45" tall M ONOI_ITHIC—/ )
® TOP FASCIA SUPPORT 1.5" x 1.750” L Shape .040 Alum CONCRETE
ACM PANEL ® HAT SECTION .875 (25GA) @ 12° Sections) FOUNDATION ; " NOT TO SCALE
@ UPRIGHT BRACE (35.5" hat channel) 1.5" © 24GA (32" on center) S -0 s@ ANCHOR BOLT PATTERN
ANGLE BRACE .875 (25GA) @ 4' (32" on center) (TO BE FIELD VERIFIED)
(® BOTTOM CHANNEL BRACE (16” hat channel) 1.5" @ 24GA (32" on center) I__O O TI I\I G D E TAI I— ( U . I\I . O . )
(© DOUBLE SIDED TAPE
DETAII_ "B“ @ 8x3/4 Hex Screw I__OUI\IDA—I_IOI\I I\IOTES
e —— @ 12x1 Hex Screw With Washer

1. FOUNDATION DESIGN IS BASED ON PRESUMPTIVE LOAD BEARING VALUES PROVIDED
IN THE INTERNATIONAL BUILDING CODE, TABLE 1806.2 AN ASSUMED ALLOWABLE

FASCIA DETAIL SOIL BEARING PRESSURE OF 1500 PSF AND A LATERAL BEARING PRESSURE OF
PERIMETER GUTTER 100 PSF /FT WAS USED FOR DESIGN.

& 44" FASCIA (TYP) 2. 1 1/4” ¢ x 34" LG. A—307 GR. A ANCHOR BOLTS W/ HEAVY HEX NUT AND 7” (MIN)
THRD. PROJECTION WITH DOUBLE NUTS FOR PLUMBING AND LEVELING TO BE USED.
27" CONCRETE EMBEDMENT (MIN) TO BE PROVIDED.

6 @) ™ 3. ANCHOR BOLT PATTERN IS TO BE 16" ON CENTER.
4. IF FILL IS USED IT SHALL BE GRANULAR, STRUCTURAL FILL COMPACTED TO
(2) 3/4” CONDUIT . 76 . TO 100% MODIFIED PROCTOR.
FIELD LOCATE)—
( ) \ 12’ 26’ / 26’ 12’
by N L W12X19 .
p w
T —
o
" & LEGEND
2 CANOPY LIGHT FIXTURE
ne] LSl Vertex LED CANOPY LIGHTS
| ™~ TYP OF 12
~ — EXACT LOCATION TO BE FEILD DETERMINED
(WIRING BY OTHERS)
9
L 20 GAUGE STEEL DECK
PROPOS”ED ., , WHITE
HSS 10”x10”"x1 /4" STEEL COLUMN (Install w/Max Clips
5'x5'x5’d MONOLITHIC CONCRETE per Mfr Instru)
FOUNDATION TO BE INSTALLED
(See Detail) (TYP of 3)
FRAMING PLAN CODE_SPECIFICATIONS
|.B.C. INTERNATIONAL BUILDING CODE (2018 EDITION) / 2018 NORTH CAROLINA BUILDING CODE
ASCE 7—16 MINIMUM DESIGN LOADSFOR BUILDINGS AND OTHER STRUCTURES
ANSI/AISC 341—16 SEISMIC PROVISIONS FOR STRUCTURAL STEEL BUILDINGS
. AISC SPECIFICATION FOR THE DESIGN, FABRICATION AND ERECTION OF
8" RED STRUCTURAL STEEL FOR BUILDINGS (335—8951)
76 >|l AISC CODE OF STANDARD PRACTICE FOR STEEL BUILDINGS AND BRIDGES (2016 ED.)
- V'/ AIS| SPECIFICATIONS FOR THE DESIGN OF COLD—FORMED STEEL STRUCTURAL
< | WHITE MEMBERS (2016 EDITION)
Al b\ AWS DI.I/DI.IM:2015 STRUCTURAL WELDING CODE
\—3 MM ACM
: 2 e
io% 8" RED _
R \2/
iINETR /D
3 Y, LAT 35.514558
SEE FOOTING NI LONG —78.813745 ALL WORK TO BE IN ACCORDANCE WITH THE 2018 NCBC
S ED PHILLIPS ALUMINUM CO.
y R Hanbi gt ey 3032 POLKVILLE ROAD
SHELBY, NORTH CAROLINA 28150
ROPOSED (704) 487—7969 FAX (704) 487—1832

HSS 10"x10"x1/4” STEEL COLUMN

PREPARED FOR

CHALYBEATE STORE

5'x5'x5’d MONOLITHIC CONCRETE
FOUNDATION TO BE INSTALLED

(See Detail) (TYP of 3) LOCATION 9101 US 401 N.

ELEVATION FUQUAY VARINA, NC 27526
SCALE DRAWING # SHEET
NS 3/11/2021 M 873 1 OF 3




\
(2) 5/8" BOLTS
(OPP. SIDE SAME)
USE (2> WASHERS PER BIZILT—\ AN, BEAV
“ : %
[Too oo ) SIDE PLATES AREF \ °_—j,'” PURLIN @ 8”X 2"BOLTS
L 87 127 x174" NSYFISo | o 4 y g/
L [oo ool CENTERED IN WE% g A (TvP)
:*l AN COLUMN
2 “+ :T AN
o o (6> 5/8"¢ A- BOLTS & B <
S o (12> WASHER IN EACH SPLICE. \ \
/\i (6> IN SIDE PLATES., BOLT THRU A '
1 /47 N SEE DETAIL E PURLIN WEB, ZFASTEN DECK W/MAX—CLIP
N e OPTIONAL PURLIN WEB SPLICE ERCH DECK RB S O PEAM @
HSS 107X10"X1/4" COLUMN TYPICAL CONNECTION DETAIL Beam Connections
(TO BE WITHIN 5" 0OF MAIN
COLUMN—BEAM_CONNECTION /A Aad o Hh LT
NTS \T/ DECKING CONNECTION
Purlin %
. DECKING— 3" X 16" 20 GA. STEEL
FASTENED BY MAX CLIPS SUPPLIED
7 BY DECKING MANUFACTURER AT EACH
PURLIN (@16" 0.C. MAX
o DECKING  WEIGHT= 2.25#/ SQFT
CONDUIT ORIENTATION
TO BE FIELD DETERMINED <> \ N
DECKING CONNECTION DETAIL /C
SEAL OFF HSS 10”X10”X1/4” COLUMN —
(REQD. / " =/
ON ALL (1) STEEL " ” ,
CONDUITS) CONDUIT 3/8" X 41/2° X 4 1/2" GUSSET PLATE (TYP)
— 90° R. SWEEP I 2y »
OR STREET HSS 10”X107X1/4” COLUMN
o "L" (TYP.) N\
] 1'-3 -
a2 AN ]
1T -
=y QT - i
f§ /e = ! | 1" PLATE— ~ PURLIN CONNECTED WITH
© ASE PLATE <3 > -~ (4) — 5/8"X2" BOLTS. TWO
< DETAL < \_3" PVC INTERNAL DRAIN. (()N EACH/ SIDE ON THE WEB

DETAIL A

INTERNAL CONDUIT DETAIL
(1> CONDUIT

e
| /ﬁfd

/.

BASE PLATE DETAIL/ D\

/BASE PLATE

NTS =/

OUTRIGGER NOT SHEIWN|

FIELD CUT HOLE IN
PERIMETER GUTTER

Z
~ O
ZogF
Eég SLAB
= O
nﬁsOLUMN DETAIL @ 4SS 10°X10"X1 /4" COLUNN N d— NEJATS\EWTPHLA%SHER
i;T\/ Q—GROUT AS REQUIRED
3/4” PLATE /—TOP OF CONCRETH
yA— 1/4 HOLES FOR 5/8" BOLTS .
X, ;17 % AR
!—RUBBER PIPE SLEEVE \_ _15'
L DECKING —0= o —o— 9= i’f— =l 1
/,3 /7? PVC DRAIN LEADER (I:__ L L T i 11"

\
\‘ \
\

\

4> TEK SCREWS
1ex1 (ONE EA CORNERD

AN
\}DRAIN LEADER COVER 26"
LAMPS
TER

3+
iy UL ERIME LASTIC DRAIN LEADER
" ZQ//\/ E/VTO - GUTTER ATTACHMENT
L
Ve ALY
AAINS Wy 8455 INDTE: APPLY SILICONE CAULKING TO THE
U pZ076%  |GUTTER DRAIN LIP & ATTACH TO GUTTER

R
04/05 WHILE CAULK IS STILL WET.
ALLOW CAULKING TO COVER THE SCREW
THREADS FOR AN APPROPRIATE SEAL.

THIS WILL

GUTTER CONNECTION DETAILS

THROUGH THE FLANGE.

SECTION FY
NTS \—/

AN

2 TYP ¢

CAP PLATE DETAIL / E
\__/

NTS

I'YPICAL DETAILS

| 3/8” X 8" X 8”
GUSSET PLATE (TYP)

ANCHOR BOLT DETAIL /Y

NTS =/

/FRAMING SCHEDULE I
COL. — SEE PLAN

BEAM — SEE PLAN

PURLIN — SEE PLAN

DESIGN LOADS: (PER IBC 2018)
RISK CATEGORY : |l

USE GROUP : U

CONSTRUCTION TYPE : II-B
1603.1.1 FLOOR LIVE LOAD: N/A

1603.1.2 ROOF LIVE LOAD: 20 PSF
DEAD & COLLATERAL LOAD: 10 PSF
TOTAL ROOF DESIGN LOAD: 30 PSF

1603.1.3 ROOF SNOW LOAD:
SNOW LOAD COEF.(Ce) = 1.0
IMPORTANCE FACTOR (I) = 1.0
GROUND SNOW LOAD (Pg) = 15 PSF
FLAT ROOF SNOW LOAD (Pf) = 12.6 PSF
THERMAL FACTOR (CT) = 1.2
1603.1.4 WIND LOAD:
ULTIMATE DESIGN WIND SPEED, Vult (3 SEC GUST) : 116 MPH
NOMINAL DESIGN WIND SPEED, Vasd : 90 MPH
WIND EXPOSURE: C
INTERNAL PRESSURE COEFFICIENT (GCpi) : 0.00

COMPONENTS AND CLADDING
DESIGN WIND PRESSURE (Pret) : 20.8 PSF

EARTHQUAKE LOAD DESIGN DATA
SEISMIC IMPORTANCE FACTOR (le) : 1.0
MAPPED SPECTRAL RESPONSE ACCELERATIONS

Ss=0.129 ¢ Sms=0.206 g
S1=0.064 ¢ Sm1=0.153 ¢
SITE CLASS "D”
SPECTRAL RESPONSE COEFFICIENTS
Sds=0.137 Sd1=0.102

SEISMIC DESIGN CATEGORY : B

BASIC SEISMIC FORCE RESISTING SYSTEM : CANTILEVERED COLUMN
RESPONSE MODIFICATION FACTOR (R) : 1.25

SEISMIC RESPONSE COEFFICIENT (Cs) : .110

EQUIVALENT LATERAL FORCE ANALYSIS PROCEDURE USED
DESIGN BASE SHEAR (V) : 1.03 KIPS / COLUMN (MAX)
(SEISMIC DOES NOT CONTROL)

FOOTING DESIGN:
CONSTRAINED CONDITION
LATERAL BEARING PRESSURE 100 PSF/Ft
MAX. END BEARING PRESSURE 1500 PSF
EXTEND FOOTING BELOW FROST LINE

CONCRETE: (PER ACI 318-11) — ?EggUI\P/IEB)STRENGTH (MIN)

BOLTS:
BOLTS SHALL CONFORM TO ASTM A325 FOR
STRUCTURAL STEEL CONNECTIONS. BOLTS SHALL
BE TIGHTENED TO THE "SNUG—TIGHT CONDITION" PER
AISC AND RCSC SPECIFICATIONS. THE “SNUG—TIGHT
CONDITION" IS DEFINED AS THE TIGHTNESS REQUIRED
TO BRING THE CONNECTED PLIES INTO FIRM CONTACT.
ALL OF THE BOLTS SHALL BE TIGHTENED SUFFICIENTLY
TO PREVENT THE REMOVAL OF THE NUTS WITHOUT THE
USE OF A WRENCH.
STEEL
1. ERECTION OF STEEL STRUCTURE SHALL BE
PERFORMED PER ALL AMERICAN INSTITUTE
OF STEEL CONSTRUCTION (AISC) ERECTION

PROVISIONS.

2. STRUCTURAL STEEL SHALL CONFORM TO:

Wide Flange Beams — ASTM A992, Grade 50, Fy = 50 KSI
Structural Angles and Channel — ASTM A36, Fy = 36 KSI
Structural Plate — ASTM A36, Fy = 36 KSI

Structural Tubing — ASTM AS500, CGrade B,

Fy = 42 KSI (ROUND) Fy = 46 KSI (SQ / RECT)
Structural Pipe — ASTM AS53, Grade B, Fy = 35 KSI
REBAR — ASTM A615, GRADE 60, Fy = 60 KSI

3. ALL STEEL FRAMING MEMBERS ARE TO BE
PAINTED WITH A RED OXIDE PRIMER

WELDS
ALL WELDED CONNECTIONS SHALL BE IN ACCORDANCE
WITH LATEST AWS SPECIFICATIONS, USING E70XX
ELECTRODES. ALL WELDING SHALL BE PERFORMED
BY AN AWS CERTIFIED WELDER.

ROOF PANELS
20 GA. ROLLED FORM STEEL DECKING INSTALLED
W/ MAX CLIPS PER MFR. INSTRUCTIONS. U.N.O.

FOUNDATIONS
SEE FOOTING PLANS FOR DETAILS.
GROUT
Factory Package — ASTM 109
Non—Corrosive and Non—Staining

To be mixed with water for consistency suitable
for application and 30 minute working time.

ALL WORK TO BE IN ACCORDANCE WITH THE 2018 NCBC

PHILLIPS ALUMINUM CO.

3032 POLKVILLE ROAD
SHELBY, NORTH CAROLINA 28150

(704) 487-7969 FAX (704) 487-1832

PREPARED FOR

CHALYBEATE STORE

LOCATION 9101 US 401 N.
FUQUAY VARINA, NC 27526

SCALE DRAWING # SHEET

3/11,/2021

S NTS 873 2 OF 3 )




36" Fuel Canopy Tier 1

42" ; 735"

| i 84" .
==>.  PURE:

| 72 |
; v Face-lit Channel Letters
‘ Face-lit Graphic Firebird - PMS 186 C S i "PURE" - PMS 7687 C ‘

Return -~ White Return - match face
= ’ —FURE
‘ ‘ Fuel Position Markers | [
) i/

36"

o 9

]

16

WFront
| 24 |
‘ Face-lit Channel Letters ‘
"PURE" - PMS 7687
Return - match face :
T / White Columns
o C o 1
" Left/Right ”
h REVISION DATES:
Q s : . . . . CHALYBEATE STORE SALES: TJ MANAGER: LA DESIGN: IM
Aﬁ@gy‘m@@ T%g’g?m ]2 1314 z CanopyS|gnage ‘ 9101 U.S. 401, Fuquay-Varina, NC 27526 APPROVED BY: DATE:
36" STD ACM FASCI
POWER SUPPLY IN _
WEATHERPRUOOF $ L.E.D. MODULES
ENCLOSURE e
GALVANIZED HAT BRACING 738“%5 N v
FASTENED TO DECK PANS @ I~ THROUGH THE FASCIA
32 in O.C. NI s
(DESIGN PER CANDPY gl BRACING WITH <4 min> %
MANUFACTURER Oj/ | 2 BOLTS PER BRACE
y i or #10 x %’ SELF TAPPING
| A4 & | TEK SCREWS
CANOPY DECK PANELS @12" UC - 4 PER BRACE
- PERIMETER 4 % >}< ALL WORK TO BE IN ACCORDANCE WITH THE 2018 NCBC
GUTTER i
PHILLIPS ALUMINUM CO.
FASCIA SIGN ATTACHMENT DETAIL 3032 POLKVILLE ROAD
NTS ANGLE MOUNTED SHELBY, NORTH CAROLINA 28150
NOTE IN BACK 0OF SIGN (704) 487—7969 FAX (704) 487—1832

PREPARED FOR

% % DESIGN FASCIA SPACING IS TO BE 32" OC. (MAXD CHALYBEATE STORE

LOCATION 9101 US 401 N.
FUQUAY VARINA, NC 27526

SCALE DRAWING # SHEET

\ NTS 73 3 OF 3

3/11,/2021




	873 1of3
	Sheets and Views
	Model


	873 2of3
	Sheets and Views
	Model


	873 3of3
	Sheets and Views
	Model



